

Exhibit A

Estimate

160 North Broadway Fresno, CA 93701-1592

Customer No.: MERCED FLEET

Quote No.:

12036

Phone: (559) 233-8818

(559) 268-8506

Quote To: City of Merced Fleet Department

678 W 18th St Accounts Payable Merced, CA 95340-0000 Ship To: City of Merced Fleet Department

1776 Grogan Ave Phil Lozano

Merced, CA 95341-0000

Phone: (209) 385-6801

Fax:

Phone: Email:

	rax.		Elliali.			
Date	Ship Vi	F.O.B.	Terms			
05/03/22		Origin	Net 30			
Purchase Order Number		Sales Person	Ex	piration Date		
		David Burchfield		06/02/22		
Quantity Required	Item Num	per Description	Unit Price	Amount		
		2022 CHEVY SILVERADO 2500 4X4 CREWCAB BC BUILD				
		LIGHTING AND SIREN ****EQUIPMENT***				
		CONTROLLER				
2	ENGCP18001	SoundOff bluePrint Remote Control Panel 15 Prog Buttons 3 Pos. Slide Switch	236.00	472.00		
2	ENGCC01243	SoundOff bluePrint 3 Central Controller 1 Ignition Input 24 Output	527.00	1054.00		
2	ENGSA07141	SoundOff bluePrint Remote Siren Switch Module	442.00	884.00		
4	ENGND04101	SoundOff bluePrint Remote Node 4 Active Inputs 10 Outputs 50amp Max	296.00	1184.00		
4	ENGHNK03	SoundOff Harness Kit for Remote Node 10'	108.00	432.0		
2	ENGHNK04	SoundOff Harness Kit for Central Controller 15'	132.00	264.00		
2	ETS100J5	SoundOff Siren Speaker	240.00	480.00		
		FORWARD FACING LIGHTING				
2	ENFWB00D0W	SoundOff Inner Split Front Lightbar fits '20-'21 Chevy 2500/3500 MOUNTED BEHIND THE FRONT WINDSHIELD	1400.00	2800.00		
2	EGTTE794H	SoundOff Opticom Emitter 794H MOUNTED ON THE FRONT GRILLI	2258.00 E	4516.00		
8	EMPS2STS4D	Sound Off Mpower	174.00	1392.00		



Estimate

Customer No.: MERCED FLEET

Quote No.: 12036

Phone: (559) 233-8818

(559) 268-8506

Quote To: City of Merced Fleet Department

678 W 18th St Accounts Payable Merced, CA 95340-0000 Ship To: City of Merced Fleet Department

1776 Grogan Ave Phil Lozano

Merced, CA 95341-0000

Phone: (209) 385-6801

Fax:

Phone: Email:

	Fax:	Email:	Email:			
Date 05/03/22	Ship Via	F.O.B. Origin	Terms Net 30	•		
Purchase Order Number		Sales Person		Expiration Date		
		David Burchfield		6/02/22		
Quantity Required	Item Number	Description	Unit Price	Amount		
	*	12 LED Light RED/ WHITE	2			
8	PMP2BKDGAJ	90 Deg. Adjustable Deck/Grill Bracket Kit for Mpower 4" Fascia Lights	11.00	88.00		
		MOUNTED ON GRILLE				
4	ELUC3H010W	Sound Off U//C Screw-In Light Kit/Flasher White	110.00	440.00		
		MOUNTED IN HEADLIGHT OR TURN SIGNAL HOUSING				
		SIDE LIGHTING				
4	ENT2B3D	SoundOff Intersector Under Mirror Mount Light RED/ WHITE	247.00	988.00		
		MOUNTED UNDER EACH MIRROR				
12	EMPS2SMS4D	SoundOff mPower Fascia Light w/Screw Mount RED/WHITE	163.00	1956.00		
		MOUNTED 3 ON EACH RUNNING BOARD				
8	EMPS2QMS4D	SoundOff mPower Fascia Light w/Quick Mount RED/WHITE	163.00	1304.00		
8	NONSTOCK	Non-Stock Inventory CUSTOM MOUNTNG BRACKET FOR LIGHTHEADS BEHIND THE SIDE WINDOORS IN THE CAMPERSHELL	25.00	200.00		
		MOUNTED TWO ON EACH SIDE OF THE CAMPER SHELL BEHIND THE SIDE GLASS WINDOORS UP HIGH				
		REAR LIGHTING				



Phone: (559) 233-8818

Estimate

Customer No.: MERCED FLEET

Quote No.: 12036

(559) 268-8506

Quote To: City of Merced Fleet Department

678 W 18th St Accounts Payable Merced, CA 95340-0000

Phone: (209) 385-6801

Ship To: City of Merced Fleet Department

1776 Grogan Ave Phil Lozano

Merced, CA 95341-0000

Phone:

	Fax:	Email:		
Date	Ship Via	F.O.B.	Terms	
05/03/22		Origin	Net 30	
Purchase C	Order Number	Sales Person	Ехр	iration Date
		David Burchfield	0	6/02/22
Quantity Required	Item Number	Description	Unit Price	Amount
2	EMPTC00SUY	SoundOff 6 Head T/A	1106.00	2212.00
4	NONSTOCK	Non-Stock Inventory CUSTOM MOUNTING BRACKETS FOR THE T.A. AND TWO WARNING LIGHTS MOUNTED HIGH BEHIND THE REAR WINDOW OF THE CAMPER SHELL.	40.00	160.00
4	EMPS2QMS4D	SoundOff mPower Fascia Light w/Quick Mount RED/WHITE	163.00	652.00
		MOUNTED BEHIND REAR WINDOW OF CAMPER SHELL		
8	ELUC3H010W	Sound Off U//C Screw-In Light Kit/Flasher White	110.00	880.00
		MOUNTED IN EACH TAILLIGHT HOUSING		
4	EMPS2QMS4D	SoundOff mPower Fascia Light w/Quick Mount RED/WHITE	163.00	652.00
		MOUNTED IN GAP BETWEEN TAILGATE AND BUMPER		
		CONSOLE AND MDT ****EQUIPMENT****		
2	CC-MC16BX12-WB	Troy 16" L Shape Wide Body Console w/ Built In Lockable Storage Includes faceplates for	658.00	1316.00
		Soundoff Siren controller Viking KCH20 Controlhead reqired filler blanks		
2	AC-INBHG	Troy 4" Dual Beverage Holder	46.00	92.00
2	FP-USB-2DC	Troy 2" Faceplate	61.00	122.00



Estimate

Customer No.: MERCED FLEET

Quote No.: 12036

Phone: (559) 233-8818

(559) 268-8506

Quote To: City of Merced Fleet Department

678 W 18th St Accounts Payable Merced, CA 95340-0000

Phone: (209) 385-6801

Ship To: City of Merced Fleet Department

1776 Grogan Ave Phil Lozano

Merced, CA 95341-0000

Phone:

Fax:		Email:				
Date Ship Via		F.O.B.	Terms			
05/03/22		Origin	Net 30			
Purchase Order Number		Sales Person	Expiration Date			
		David Burchfield	06/02/22			
Quantity Required	Item Number	Description	Unit Price	Amount		
		Pre-Punched Holes for 2 DC Outlets & ! Dual Port USB				
2	AC-SIDEARM-12	Troy Adjustable Armrest	109.00	218.0		
2	AC-MCM1	Troy Mic Clip	14.00	28.0		
2	MMSU-1	Magnetic Mic Conversion Kit	35.00	70.0		
		RADIO EQUIPMENT				
2	VM7730BF-P	Kenwood Viking 136-174 Mhz RF Deck	2223.00	4446.0		
2	VM7730BF-S	Kenwood Viking 136-174 Mhz RF Deck	1020.00	2040.0		
2	VM7830BF-S	Kenwood Viking 380-470 Mhz RF Deck	1020.00	2040.0		
2	VM7930BF-S	Kenwood Viking 700/800MHz RF Deck	1020.00	2040.0		
2	KCH-20RV	Kenwood Viking Control Head	595.00	1190.0		
2	KCT-71M2	Kenwood Remote Control Cable (17ft)	67.00	134.0		
2	KMC-65M	Kenwood MIL-SPEC Standard 8 pin mod plug Mobile Mic	50.00	100.0		
8	KES5	Kenwood External Speaker External speaker, 40W max input Note: Requires KCT-72M to connect to Remote Control Head	58.00	464.0		
8	KRK-17BF	Kenwood Remote Kit	94.00	752.0		
8	KAP-2	Kenwood Horn Alert/PA Relay Option Note: For mid power mobiles (NX-5700/5700B/5800/5800B/5900/5900B) only.	60.00	480.0		
6	KCT-71M4	Kenwood Remote Cable	43.00	258.0		



Estimate

Customer No.: MERCED FLEET

Quote No.:

12036

Phone: (559) 233-8818

(559) 268-8506

Quote To: City of Merced Fleet Department

678 W 18th St Accounts Payable Merced, CA 95340-0000

Phone: (209) 385-6801

Ship To: City of Merced Fleet Department

1776 Grogan Ave Phil Lozano

Merced, CA 95341-0000

Phone:

	Fax:		Email:		
Date	Ship	o Via	F.O.B.	Terms	
05/03/22			Origin	Net 30	
Purchase C	Order Number		Sales Person		piration Date
			David Burchfield		06/02/22
Quantity Required	Item N	umber	Description	Unit Price	Amount
	*		for RF Decks 1.6' Remote Control Cable (1.6 feet)	•	
8	KMB-33M		Kenwood NX5000 Series Mounting Bracket for RF Deck Note: For mid power mobiles (NX-5700/5700B/5800/5800B/5900/5900B) only.	13.00	104.00
8	KCT-23M3		DC Cable (10 - 50 watt remote mount) DC Cable (35-50W Remote mount; pos.23 ft.; neg. 3.3. ft. leads)	52.00	416.00
2	KRA-40GM		Kenwood GPS Antenna	40.00	80.00
8	KCT-46		Kenwood Viking Ignition sense cables	13.00	104.00
8	597539077901		Kenwood Viking USB Micro A-B Cable	0.00	0.00
2	8322000002		KW P25 Conventional Option	323.00	646.00
2	8322000005		Kenwood Viking Option P25 Phase 1 Trunking	115.00	230.00
2	8326000006		KW 1024 CH option	0.00	0.00
			Conventional Voting Scan		
			TrueVoice Noise Cancellation		
2	8326000002		KW MDC1200/GE Star Signaling Option	47.00	94.00
2	8325000003		EFJ GPS Option	94.00	188.00
2	8326000015		EFJ 25KHz Disabled Option	0.00	0.00
			3 Year Warrenty		
8	ROOF-FT-NIT	Ĺ	Stico Flexi-Whip Antenna 136mhz-1ghz. Includes	89.00	712.00



Estimate

Customer No.: MERCED FLEET

Quote No.: 12036

Phone: (559) 233-8818

(559) 268-8506

Quote To: City of Merced Fleet Department

678 W 18th St Accounts Payable Merced, CA 95340-0000 Ship To: City of Merced Fleet Department

1776 Grogan Ave Phil Lozano

Merced, CA 95341-0000

Phone: (209) 385-6801

Fax:

Phone: Email:

	rax.	Email.	Email.				
Date	Ship Via	F.O.B.	Terms				
05/03/22		Origin	Net 30				
Purchase Order Number		Sales Person		Expiration Date			
		David Burchfield	06/02/22				
Quantity Required	Item Number	Description	Unit Price	Amount			
		coax & RFU505ST					
8	RFN10053C	N Connector RG58	10.00	80.0			
2	LABHRPROG	Programming Fee Assemble, Setup , Program, Integrate with Repeater and Tune	125.00	250.0			
		REPEATER EQUIPMENT					
2	SVR-250VB	Vehicular Repeater 150-174 MHz	1568.00	3136.0			
2	BPF-1604-B	Pre- Selector 170-174mhz Factory Tuned	292.00	584.0			
2	BRF-1602-C	Dual Notch Filter 171-174mhz Factory Tuned	292.00	584.0			
2	7502-10-1245	Pyramid Interface Cable fits Kenwood 5000 Series fits SVR-250	125.00	250.0			
4	TCK-203	Pyramid 3' TNC Cable Kit for use with BPF/BRF Filters	69.00	276.0			
2	ROOF-FT-NITI	Stico Flexi-Whip Antenna 136mhz-1ghz. Includes coax & RFU505ST	89.00	178.0			
2	RFT12022	TNC Connector RG58	10.00	20.0			
2	352-01	Tuffy Underseat Lockbox '19 GM Truck Double & Crew Cab	464.00	928.0			
		USED AS EQUIPMENT HOUSING					
		MISC. INSTALLTION PARTS					
4	CB185-150	Bussman 150amp Resettable Circuit Breaker	44.00	176.0			
4	5029	12 Circuit Water Resistant	40.00	160.0			
	2014 TS 27 TS 72.						



Estimate

Customer No.: MERCED FLEET

Quote No.: 12036

Phone: (559) 233-8818

(559) 268-8506

Quote To: City of Merced Fleet Department

678 W 18th St Accounts Payable Merced, CA 95340-0000

Phone: (209) 385-6801

Fax:

Ship To: City of Merced Fleet Department

1776 Grogan Ave Phil Lozano

Merced, CA 95341-0000

Phone: Email:

	Fax:		Email:				
Date 05/03/22	Ship Via				Terms Net 30		
Purchase Order Number			Sales Person	Exp	Expiration Date		
	A STATE OF THE STA		David Burchfield	06/02/22			
Quantity Required	Iten	n Number	Description	Unit Price	Amount		
			Fuse Block w/Cover				
2	7615B		Blue Seas Solenoid/Timer. 120amp 12vdc	120.00	240.00		
2	7622B		Blue Sea Automatic Charging Relay w/Manual Control 12vdc 500 amp	224.00	448.00		
6	NONSTOCK	(Non-Stock Inventory underhood equipment mounting brackets	30.00	180.00		
2	27 TM		Deep Cycle Battery	175.00	350.0		
4	F18PC		Whelen Flourent Plus Sure-LED Compartment Tube Light 18" MOUNTED OVERHEAD IN CAMPER SHELL	115.00	460.0		
2	MATERIALS	FEE3	Installation Material Bundle	350.00	700.0		
103.500	LAISREG		Shop Installation OF PARTS LISTED ABOVE & THE ADDITIONAL ITEMS LISTED BELOW THAT WILL BE PROVIDED BY THE CUSTOMER.	125.00	12937.5		
			(WILL INCLUDE PROGRAMMING OF THE SIREN CONTROLLER AND LIGHTING)				
			CUSTOMER TO PROVIDE: PORTABLE CHARGER KNOX BOX MDT MOUNTING PACKAGE AND POWER SUPPLY				
			22 CHEVY SILVERADO 2500 UNIT#				

Thank You

VIN# LIC# MILEAGE:



Estimate

Customer No.: MERCED FLEET

Quote No.: 12036

Phone: (559) 233-8818

(559) 268-8506

Quote To: City of Merced Fleet Department

678 W 18th St Accounts Payable Merced, CA 95340-0000

Phone: (209) 385-6801

Fax:

Ship To: City of Merced Fleet Department

1776 Grogan Ave Phil Lozano

Merced, CA 95341-0000

Phone:

Email:

	art.	-		
Date	Ship Via	F.O.B.	Terms Net 30	
05/03/22		Origin		
Purchase Order Number		Sales Person		Expiration Date
		David Burchfield		06/02/22
Quantity Required	Item Number	Description	Unit Price	Amount

 Subtotal
 63311.50

 Freight charges
 600.00

 Sales tax @ 8.35000%
 4185.35

Total 68096.85

Thank You for Considering Cook's Communications